








 



 











 





Phf = 12 × !" × #$ × % × &

'() = 2*+&,-./ × L

0 0 0 0 0 0 0 0 0 0 0 * = 8,3&4 5./6 7
9/













� �

:1 = ; ' < %>? < :$



:1@ = ; ' < %>A < :$

:2 = 3 ' < %!?%B C *?D



:2@ = 3 ' < %!A%B C *AD

:E = ;FG2HIE'J@



�

�

�



 

'1 = #$,( = 1KME × NK8MOOQ × F26K6 R FRQKS6SHH = EM6KOFTD4U&H
#$ = 1KMEF)4U/H
, = NK8MOOQFm4s&H
( = (9 R (&FmH(9 FVK 'K H = 26K6FUH
(& FVK 'K H = RQKSQSFUH

'2 = 9& × !W × #$ × %9 × & = 9& × 2KM1 × 1KME × 8KO × 1M& = 8NMKEFTD
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#$ = 1KMEF)4U/H
%9 FU&H = - × .9&6 = - × EKE&6 = 8KOFU&H
.9 = EKEFUH
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:$@ = - × .& = - × EKN = 12K2QFUH
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g = 1KQ 1KQ
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